12. [TI111

(L1111

e [[TITIChapter30 : General Purpose Timer (GPT)[T]
e [[TITIChapter24 : Enhanced Periodic Interrupt Timer (EPIT)[T]

12.1 GPT[IIT]

GPTIR2 PTIO I GPT
age nojfpund or type unknown
[

o [TIITTIITTB 20T

o ITTITTTTTTTITTITT]

o [JTITITTITHTIITITIITIT] force compare”[1T]

e [JTIITNlow power[TTTTidebugTTTTITIIIT]

e [(MTcapture[ITITicompare[ITTTIrolloverTTITITIT]

e [T TrestartIIITITfree-runIITITIITIT

Clock name Clock Root Description

ipg_clk ipg_clk_root Peripheral clock

Low-frequency reference clock (32
ipg_clk_32k ckil_sync_clk_root . y (

kHz)
ipg_clk_highfreq perclk_clk_root High-frequency reference clock
ipg clk_s ipg_clk_root Peripheral access clock

OTGPTUITIIITITipg_clk[ITPeripheral1Tlipg_clk perclkITlgptIIITITipg_clk 32KITITITITIpg_clk hig



age noffpund or type unknown

T TOTAOTIIT T T Tieg_clk_highfreqMIITIITTipg_clk_32k[ITTTlipg_clkITTIITK
mode[[TTTTTipg_cIkTTTTIT T Hieg kT

age noffpund or type unknown

[MITITPERCLK_CLK_ROOTIITIPG_CLK_ROOTIOSCIIIIIIITIPG_CLK ROOT[ITICSCMR1[PERCLK PODF]
CLK_ROOT[TICBCDRI[IPG_PODF] [TTIIITLIIIIRIAHB_CLK ROOTIIIIIIISYS PLL PFD2[TICBCDR[AHB.
PFD2[IIIB96M[ITPERCLK_CLK_ROOTIITI66M[]

PERCLK_CLK_ROOT = 396M /3 /2 = 66M

12.1.2

GPT_CRIITITICLKSRCITTITITICLKSRCITTITIGPTIEN = O[ITTTTTIT]

(I

1.[ITGPT_CRIIIIITEN = O[ITIGPT]

2 [IGPTIIIITGPT IR

3. MIIIIIIYIIT0GPT_CRIJOM100OM200M3[0[]
4 IIIIIHIGPT_CROM1OM2IT]
5.0GPT_CROTIIIITICLKSRCOTITIIT
6.0GPT_CRIITITSWRIIL[

7.[TGPTIIITIGPT_SRITITTITTIITIO0]

8.[IGPT_CR[IITITIENMOD = 1[ITIGPT[IIIT]0x00000000[]

9.[0GPT_CR[IITIITIGPTEN = 1[T]

10.[TIGPTIIIIIIGPT IR0

12.1.3 GPT




@ [TIIIIIIIRestart mode[]
TGP TIITTIGPT_CROTTTTITITIITITITITITTIOX0000000 O T T T T (T (T TTIT

@ [TIIIIIfree-run mode[]

T T T T TTTTTTI0OX00000000(T]

12.1.4 GPT

OITTTGPTITITITTGPT_CNTITTTTTB2[ITITTITTITTTTTITITEN = 111111

*[[II0GPTIIIEN = OIIIIIIIIIIIIIIIIIIIIIIENILIIIIIIIIIENMODIIIGPT counter(IT]

*[ITENMODITLITITIGPTEEN = 1[MTTITITIITIIITTIIITIo0

*[IDENMODTITOITIITIGPTEN = 1TTTITTIITTITITITITTTTTTITTT]

* MTOGPTIIIIITIITISTOP / WAITHITT TGP T T T T T T TG PTOTITITTTTITENMODT

* TOGPTITITTITITTIITITTITIOCRIJOCR2[OCR 3T TITTTTTITIOXOITTTTIITIOXFFFF_FFFF[]

*[ITHGPT_CRIOTTITTSWRITITITITITITTENTENMODS TOPENWAITEN[DBGEN[TTTTTTTTTTTTTTITITITIT

12.1.5 GPT

O T Y A I T T T

age nojfpund or type unknown

12.1.6 GPT

O TG PT_CNTTTITTTITTGPT_CNTO T T T O (T T T T T IO

(IIT“[(IT1Tforced-compare[]”

age noyfpund or type unknown




12.1.7 GPT

GPTIO6 M T T I T I T

*[I11]

OGPTIIITOX AT TITITI0X0000000 0TI IIIIIIIIIIIIGPT_IROITTROVIEQTIIIIIIIIIGPT SRITI
[TIITR

OO OO OO O P EQIF LIEQOGPT IR I IF20F 1TGPT_SROTIIIIIIIILI

* [T R0

T O OO F 3IEJOF 2 IEQOF LIETTIGPT _IRITTTITITIITITTIOF 3[0OF2[JOF 1[TIGPT

[(ITITlcumulative

umulative[ T

12.2 GPT[IIT]

12.2.1 GPT Control Register (GPTx_CR)

GPT[IIID

age noffpund or type unknown

bit31-29 [TTFO3-1MOI T T OTITIITITHOFnIITIIT

bit28-26[]bit25-23[pit22-20 [TTIOM3[JOM2JOMI1[TIO0OTIIIITITIOO I [MTTITITTIOIOITIITIONO I LTI XX

bit19-18[bit17-16[ITHIM20M1OOOMTTTITTITIO L OTTIT T OO TIIT T 1T TTTTTTITI

bit15 SWRIIIT]

bit10 EN_24M[ITTIIIIT EN_24MIITIIIIITEN 24M[

bit9 FRR O[JJrestart[IT11[Ifree-run[J]

bit8-6[IBLKSRC[ITTTTTTIOOOITITITIITI0O01Peripheral Clock (ipg_clk)J010[THigh Frequency Reference

(ipg_clk_highfreq)[J011 [TIExternal Clock[J100 [TlLow Frequency Reference Clock (ipg_clk 32k)[J101[TK
oscillator as Reference Clock (ipg_clk_24M)



bit5 STOPEN[stop mode[JGPTIIT]

bit4 DOZEEN[Jdoze mode[IGPT[IIT]

bit3 WAITEN[wait mode[IGPTIT]

bit2 DBGEN[Jdebug mode[JGPTITIT]

bit1 ENMOD[TIO[ITIGPTIIIIIIIIIII TGP TIIIIIIIO

bit0 EN[JGPT[IT]

12.2.2 GPT Prescaler Register (GPTx_PR)

GPTIIIIT

%ound or type unknown

bit15-12[PRESCALER24M[I[R24M crystal [ITIIILL

bit12-OM T

12.2.3 GPT Status Register (GPTx_SR)

GPTITT

Bezound or type unknown

L T

bit5JROVIITIIL]
bit4-3[0IF20IF LTI

bit2-00OF 3-1[TTTTITITIIT

12.2.4 GPT Interrupt Register (GPTx_IR)

GPT[IIIT]



AENRRRNNNNRRANNNNNRRRRRRNRREED

%aund or type unknown

12.2.5 GPT Output Compare Register 1~3
(GPTx_OCR1~3)

GPTIIIIIT]

GPTx_OCRI-3TBOIITTTITTITTITIITIITIITIII0 I I I TIrestart mode[ITTichannaell OTTTTTITIGPTIT

ﬁe%aund or type unknown

12.2.6 GPT Input Capture Register 1~2
(GPTx ICR1~2)

GPTIIIIIT]

GPTX_ICRL- 2T T T T T T AT

yaund or type unknown

12.2.7 GPT Counter Register (GPTx_CNT)

GPT[IIIIT]

TGP

yaund or type unknown




12.3 GPTIIIIIIITIIT]

12.3.1

Mopt_poll_initfgpt_poll_restartTTTTTITIgpt _poll_initMTTTIGPTOIIIITITIoptlrestart[ITT T Peripheral C

gpt_poll_init[TIGit[T] NoosProgramProject/(12_[TTTT/009 timer_gpt _p@&ll/gpt.c]

void gpt poll init(GPT Type *base)
{

[/* bitl5 SWR, Software reset*/
[base->CR | = (1 << 15);

/* Wait reset finished. */
[while((base->CR >> 15) & 0x1) {
i

[V*

0 *bitl0: Enable 24 MHz clock input from crystal

(] *bit9: O restart mode, 1 free-run mode: set 0

0 *bit8-6: Clock Source select : 001 Peripheral Clock (ipg clk)
0 *bit5: GPT Stop Mode enable

[ *bit3: GPT Wait Mode enable.

(] *bitl: GPT Enable Mode

a*/0

[base->CR = (1 << 6) | (1 <<5) | (1 <<3) | (1 <<1);

[/*
0 *bitl5-bitl12: PRESCALER24M
0 *bitl1- 0: PRESCALER

ax*/

[base->PR = 0;

}

gpt_poll_restart T T T T AT T T TG PTO T TcomE

[I1Git[T] NoosProgramProject/(12_[TT]T/009_timer_gpt_poll/gpt.c]

void gpt poll restart(GPT Type *base, enum gpt comp channel chan, unsigned int us)

{



[base->0CR[ chan] = USEC_TO COUNT(us);
[/* wite 1 to clear int status to avoid unexpected compare event*/
[base->SR | = (1 << chan);

[/* enable interrupt*/

[base->IR | = (1 << chan);

/* gpt enable*/

[(base->CR | = (1 << 0);

[/*wait for compare flag set*/
while(! ((base->SR >> chan) & 0x1))
(3

/* gpt disable*/

[base->CR &= ~(1 << 0);

[/* disable interrupt*/

[base->IR &= ~(1 << chan);

[/* write 1 to clear int status*/
[base->SR | = (1 << chan);

}

(11
Mopt_poll_initOTIGPT1dIITIgpt_poll _restart(GPT1, OUT_COMP1, 1000000);TLsOITTITIIITI

[IGit[T] NoosProgramProject/(12_[T][[/009 _timer_gpt_polllmain.c

[(opt poll init(GPT1);

while(1) {

[opt poll restart(GPT1l, OUT COMP1l, 1000000);
[[GPI05->DR &= ~(1<<3); //led on

printf("led is on\r\n");

[Topt poll restart(GPT1l, OUT _COMP1l, 1000000);
[IGPIO5->DR | = (1<<3); //led off

printf("led is off\r\n");

0

12.3.2 4-1.4

[MIGit[T] NoosProgramProject/(12_[TT[1/009_timer_g@tJpoll)

12.3.3 4-1.4




(LTI

(I ST

age noffpund or type unknown

12.4 GPTIIIIIIITIIT]

12.4.1 GPT1

[ITITichapter 3[Table3-11TTTIgpt1IIIT]

age noffpund or type unknown

Qic[ITITIITIITR2Topt10gicITT155+32=87(]

12.4.2
12.4.2.1 [Tlgpt_init[JTTTlopt

MDGPTOII T ToptrestartITTITITPeripheral Clock (ipg_clk)I66 MITTITTTOMITI T O TITITITITITITI

gpt_init[TIGit[T] NoosProgramProject/(12_[TTTT/009_timer_gpt_int/gpt.c[]

/* assume use ipc clk which is 66MHz, 1lus against to 66 count */

#define USEC _TO COUNT(us) (us * 66 - 1)

void gpt init(GPT _Type *base, enum gpt comp channel chan, int us)
{

[/* bitl5 SWR, Software reset*/

[base->CR | = (1 << 15);

/* Wait reset finished. */

[while((base->CR >> 15) & 0x1) {

[



[V*

0 *bitl0: Enable 24 MHz clock input from crystal

[ *bit9: O restart mode, 1 free-run mode: set 0

0 *bit8-6: Clock Source select : 001 Peripheral Clock (ipg clk)
0 *bit5: GPT Stop Mode enable

[0 *bit3: GPT Wait Mode enable.

(] *bitl: GPT Enable Mode

a*/0

[base->CR = (1 << 6) | (1 <<5) | (1 <<3) | (1 << 1);

[/*
0 *bitl5-bit12: PRESCALER24M
0 *bitl1- 0: PRESCALER

a*/

[pase->PR = 0;

[/* GPTx OCR1 bit31-0: Compare Value

0 * When the counter value equals the COMP bit field value,
[ * a compare event is generated on Output Compare Channel 1.
a*/

[base->0CR[ chan] = USEC _TO COUNT(us);

}

12.4.2.2 gptI11IT1]
INRRERRNREREE)

[I1Git[T] NoosProgramProject/(12_[TT]T/09_timer_gpt_int/gpt.c[]

void gpt enable interrupt(GPT Type *base, enum gpt interrupt bit bit, int on)
{

Oif (on)

[Ibase->IR | = (1 << bit);

[else

[(Ibase->IR &= ~(1 << bit);

}

12.4.2.3 gptIIIII]
RNRNRRNRNNEN



[I1Git[T] NoosProgramProject/(12_[TT]1/009_timer_gpt_int/gpt.c[]

void gpt run(GPT Type *base, int on)
{

[/* bit0: GPT Enable */

Oif (on)

[Mbase->CR | = (1 << 0);

[else

(Ibase->CR &= ~(1 << 0);

}

12.4.2.4 [TI111]

T OGPT I M T

[TIGitT] NoosProgramProject/(12_[TTI1/009_timer_gpt_inf/main.c[]

void GPT1 COMP1 handle irq(void)

{
[(btatic int on = 1;

(printf("GPT1 comp® interrupt happened\r\n");
[V*

0* bit0: OF1 Output Compare 1 Flag

0* wite 1 clear it */

GPT1->SR | = 1;

[/* read GPIO5 DR to get GPIO5 I001 status*/

Oif(on) {

[IV* led off, set GPIO5 DR to configure GPIO5 IO003 output 1 */
[IGPIO5->DR | = (1<<3); //led off

(Tbn = 0;

[ else {

[I/* led on, set GPIO5 DR to configure GPIO5 I003 output 0 */
[[GPI0O5->DR &= ~(1<<3); //led on

(bn = 1;

}

12.4.2.5 111111

Mopt_initOTOGPT LI T sOTITTTT T TeicOGPT1_IRQnITTITIGPT IO ITTITITIGPT1T




[I1Git[T] NoosProgramProject/(12_[TT]T/009_timer_gpt_inf/main.c[]

[gpt init(GPT1, OUT COMP1, 1000000);// set 1s

[Fequest irq(GPT1 IRQn, (irqg handler t)GPT1 COMP1 handle irq, NULL);
[(oic_enable irq(GPT1 IRQn);

[(opt enable interrupt(GPT1, IR OF1IE, 1);

[gpt run(GPT1, 1);

12.4.3 4-1.4

[(TIGit[T] NoosProgramProject/(12_[T][1/009_timer_g@¥]int)

12.4.4 4-1.4

T edIT]

(IS

[ITIT]

age noyfpund or type unknown

12.5 EPITIII]

EPITIB 2T T T T T T T T T TIE PITELTTTTTTTT

age noffpund or type unknown

12.5.1 EPIT

EPITIIIIIITIT

*[MTTTITTB3 2111111

* L2[T T



OITTGPTIIITITTITipg_clk[TTTTTipg_clkITITT66MO

12.5.2

EPITITTTIset-and-forget[ffree-running[ITTTEPIT_CR [RLD]ITTITIT]

® set-and-forget[T]

TTITTITTITEPIT_CROTIRLDOTO TTTITITITITEPIT_LROTTITTTI T T TTTITITIEPIT_LR]

@ free-runnning[T]

T TR LDOTITITITITIT0000 0000hITIFFFF FFFFh O O T TE

12.5.3

EPITOITB 20T T T T T T T T T e PIT OO T A T AT O O T AT O T T TITEPITOEN

*[[ITTENMODITIITIITIITTITIITRLD = 1[1T1 FFFF FFFFhITRLD = OITTIITITTIITIO00h(T]

* MMTTENMODOTI T T T T

TEPITIIIITIITITSTOP / WAITITTITTTEPITI T I T I TR PITATITTTITTITENMODIT

12.5.4

OEPIT_EPITCMPRIITITIEPIT_EPITCNRIITTTTITITITIITITITITITITITTIOCIENTILITITTIT

T TOMOTTT T T T T T T T T TTIIITI0X0000_000O0M T T T TITITTT]

age noyfpund or type unknown

(1110

IO PIT O T T T T T T O O VW T T T T TTE PIT O T




12.6 EPIT[T]T]

12.6.1 Control register (EPITx_CR)

EPITIIT]

%ound or type unknown

bit25-24[JCLKSRC[ITIITTIOOTIIITTIO1[TPeripheral clk[[10[THign-frequency[TTTT1 1[Tlow-frequency[I]]

bit23-22[JOMITITTITTOOTIITT IO LTI OO I 111111

bit21[STOPEN[stop mode[ITITEPIT
bit19WAITENwait mode[TTTTEEPIT
bit18[JDBGEN[debug mode[TTITEPIT
bit17JOVWIITIIIIIIIIIIIIL

bit16[SWRITIT]

bit15-4[PRESCALER[IIIIIT]
bit30RLDITIIIIOOIITOXFFFF_FFFFOITIIIIIIIL
bit2[(JOCIENITIIITIT]

bit1JENMO DO TR LD I TI0XFFFF_FFFFITT]

bitOJENITITIEPIT

12.6.2 Status register (EPITx_SR)

EPITIIT]

NENNRRNERRNNRRNRRRRNRRRNRRRRERNEREN

Yaund or type unknown




bitOJOCIFITITIIIT

12.6.3 Load register (EPITx _LR)

EPITIIT]

[(DEPIT_CRORLDIIITTEPITITITTOMITEPIT_LROTTIITTITHIOVWITTITTITT T T T IITIITTTTIIITTRLDOT

ée%aund or type unknown

(1110

12.6.3 Compare register (EPITx_CMPR)

EPITIIIL]

HERRRRNNNNRRARNNNNRE

ﬁe{aund or type unknown

ARERNRNNNRNRNRNRNRNENED

12.6.4 Counter register (EPITx_CNR)

EPIT[IT]

ée%aund or type unknown

EPITOTTTTTTO T TT AT T T T OVWOTTHTITITEPIT_IROTTITTITITIT]

12.7 EPITLIITITITII

12.7.1




12.7.1.1 epit_poll_initT]

[(Mepit_poll_initfepit_poll_restart[TTTTTITlepit poll init(MTTTIEPITTTITTITEPITJset-and-forget[TTTTlenak
(ipg_clk) 066 MITTITTTOMTIIIT dTToverwrite[ITITTICMPRITIOMTITIOCIENITTTTITIT]

epit_poll_init[TIGit[T] NoosProgramProject/(12_[TT]]/009_timer_epit_pdll/epit.c[]

void epit poll init(EPIT Type *base)
{
[base->CR = 0;

[/* software reset

0 * bitl6

a*/

[base->CR | = (1 << 16);

[/* wait for software reset self clear*/
Wwhile((base->CR) & (1 << 16))

(3

[/ *
0 * EPIT CR

0 * bit2l stopen; bitl9 waiten; bitl8 debugen

[0 * bitl7 overwrite enable; bit3 reload

0 * bit2 compare interrupt enable; bitl enable mode

a*/

[base->CR | = (1 << 21) | (1 << 19) | (1 << 17) | (1 << 3) | (1 << 1);

[/ *
0* EPIT CR

0* bit25-24: 00 off, 01 peripheral clock(ipg clk), 10 high, 11 low
0 * bitl5-4: prescaler value, divide by n+l

ax*/

[base->CR &= ~((0x3 << 24) | (OXFFF << 4));

[base->CR | = (1 << 24);

[/* EPIT CMPR: compare register */

[base- >CMPR = 0;

[/* EPIT LR: load register , assue use ipc clk 66MHz*/
[//base->LR = USEC_TO COUNT(us);



[/*[EPIT CR bit2 OCIEN compare interrupt enable */
[base->CR | = (1 << 2);
}

12.7.1.2 epit_poll_restart[T]

epit_poll_restart[TTTTTTTTHEPITOTTITTTTTITITTOLROTT T T I TIOCIFOTTTEPITTTTITITITI

[I1Git[T] NoosProgramProject/(12_[T[1/009_timer_epit_poll/epit.c[T]

void epit poll restart(EPIT Type *base, unsigned int us)
{

[(epit _run(base, 0);

[/* EPIT LR: load register , assue use ipc clk 66MHz*/
[base->LR = USEC TO COUNT(us);

/* write 1 clear it, avoid it happened before */
[EPITI->SR | = (1 << 0);

[(epit run(base, 1);

[/* wait compare event happened*/

[while(! (EPIT1->SR & 0x1))

/* write 1 clear it */

[EPIT1->SR | = (1 << 0);

}

12.7.1.3 epit_run[T]
epit_run[ITTTTTTTEPITO

[11Git[T] NoosProgramProject/(12 _[TT]1/009_timer_epit_pdll/epit.c[]

void epit run(EPIT Type *base, int on)

{
/* EPIT CR bit® EN */
Oif (on)
[base->CR | = (1 << 0);
(else
[Mbase->CR &= ~(1 << 0);
}

12.7.1.4 0T

[(Mepit_poll_initQTEPIT1TTTlepit_poll_restart(EPIT1, 1000000)TILsTTTTTTTTTTIT]



[(T1Git[T] NoosProgramProject/(12_[T][[/009_timer_epit_poll/main.c[I]

epit poll init(EPIT1);

while(1) {
epit poll restart(EPIT1, 1000000);
GPIO05->DR &= ~(1<<3); //led on
printf("led is on\r\n");
epit poll restart(EPIT1, 1000000);
GPIO5->DR | = (1<<3); //led off
printf("led is off\r\n");

12.7.2 4-1.4

[IGit[T] NoosProgramProject/(12_[TTT1/009_timer_epitJpoll)

12.7.3 4-1.4

[T TledIT

(I ST

[(IIIIII11"led is on”[1“led is off"[I11]

age noyfpund or type unknown

12.8 EPITITIITIITI

12.8.1 EPIT1

([ITITkchapter 3[JTable3-1ITITEPIT1IIIT]

age nojfpund or type unknown




QiIC[ITITIITIIITR2TEPIT10gicIT156+32=88[]

12.8.1

12.8.1.1 [[TEPIT1

(Mepit_init[ITTTEPITIIITEPITIIIITITEEPITOset-and-forget[TTTTlenable mode[ITTTIPeripheral Clock (i

epit_init[TIGit[T] NoosProgramProject/(12_[TTT1/009 timer_epit_int/epit.c[T]

/* assume use ipc clk which is 66MHz, 1lus against to 66 count */

#define USEC _TO COUNT(us) (us * 66 - 1)

void epit init(EPIT Type *base, unsigned int us)
{
[pase->CR = 0;

[/* software reset

0 * bitl6

a*/

[base->CR | = (1 << 16);

[/* wait for software reset self clear*/
[while((base->CR) & (1 << 16))

(3

*
0 * EPIT CR

0 * bit2l stopen; bitl9 waiten; bitl8 debugen

0 * bitl7 overwrite enable; bit3 reload

[ * bit2 compare interrupt enable; bitl enable mode

ax*/

[base->CR | = (1 << 21) | (1 <<19) | (1 << 3) | (1 <<1);

[/ *
0 * EPIT CR

0* bit25-24: 00 off, 01 peripheral clock(ipg clk), 10 high, 11 low
0 * bitl5-4: prescaler value, divide by n+1

a*/

[(base->CR &= ~((0x3 << 24) | (OxFFF << 4));

[base->CR | = (1 << 24);



[/* EPIT CMPR: compare register */

[base->CMPR = 0;

[/* EPIT LR: load register , assue use ipc clk 66MHz*/
[base->LR = USEC TO COUNT(us);

}

12.8.1.2 [TTTTITTIT]

epit_enable_interruptTTTTTTTTTTTITI

OII**IGitT] NoosProgramProject@®Q92_fimér+epit_int/epit.c[T]

void epit enable interrupt(EPIT Type *base, int on)
{

[/* EPIT CR bit2 OCIEN compare interrupt enable */
gif (on)

[Mbase->CR | = (1 << 2);

[(else

[[base->CR &= ~(1 << 2);

}

12.8.1.3 EPITIITIT]
RRRNRRRRNNNRREN

[T1Git[T] NoosProgramProject/(12_[T][1/009_timer_epit_int/epit.c[T]

void epit run(EPIT Type *base, int on)
{

/* EPIT CR bit® EN */

Oif (on)

[Mpase->CR | = (1 << 0);

[else

(Ibase->CR &= ~(1 << 0);

}

12.8.1.4 [TIII1]

EPIT1_handle_irq@ T OIIITTITTTTITITTT

[I1Git[T] NoosProgramProject/(12_[TT[1/009_timer_epit_int/main.c[]]



void EPIT1 handle irq(void)

{
[btatic int on = 1;

[(printf("EPIT1 interrupt happened\r\n");
/* wite 1 clear it */

[0 EPITL->SR | = (1 << 0);

[/* read GPIO5 DR to get GPIO5 I001 status*/

Oif(on) {

[O/* led off, set GPIO5 DR to configure GPIO5 I003 output 1 */
[IGPIO05->DR | = (1<<3); //led on

(Ibn = 0;

[+ else {

OV/* led on, set GPIO5 DR to configure GPIO5 I003 output 0 */
[IGPIO05->DR &= ~(1<<3); //led off

(bn = 1;

[0

}
12.8.1.5 [11]

ITITlepit_init(EPITL,
1000000)ITTTTTIASOITIIIIIIIIIIIITITEPIT1 _handle_irg[jgic_enable_irq(EPIT1_IRQN)TEPIT1TIgic[ITT
1)TEPITIIIIIIIT I lepit_run(EPIT1, 1)[TEPITIIIT

[I1GitT] NoosProgramProject/(12_[TTIT/009 timer_epit_int/main.c[T]

epit init(EPIT1, 1000000);// set 1ls

request irq(EPIT1 IRQn, (irq handler t)EPIT1 handle irqg, NULL);
gic enable irq(EPIT1 IRQn);

epit enable interrupt(EPITL, 1);

epit run(EPITL1, 1);

12.8.1.6 [TIIT¥-1.401IIIIII]

[(TIGit[T] NoosProgramProject/(12_[T]]1/009_timer_epiflint)

12.8.1.7 (TTIT13-1.4[TTTIITIITITTI0TT

I TledIT]



(T S[TIT]

age no

bund or type unknown
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